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9. Example responses

9.1 Examples of responses from question 5
Children must show all of the numbers 21, 23, 25, 27 and 29 for the award of the mark. No other numbers must 
be given as part of the child’s �nal answer. 
 

Ling: 1 mark Aaron: 0 marks

Ling and Aaron have both written the correct �ve numbers in the answer space. Ling has not offered any 
other numbers so one mark can be awarded. Aaron has written other numbers so his answer is not correct 
and no mark can be awarded.

Kalila: 1 mark Umed: 0 marks

Kalila and Umed have both written correct numbers in the answer space. Kalila has written the correct �ve 
numbers in a random order and has not offered any other numbers so one mark can be awarded. Umed has 
only written four of the �ve numbers, so his answer is not fully correct and no mark can be awarded.

Liam: 1 mark Narinder: 0 marks

Liam and Narinder have both left the answer box blank, but offered their responses elsewhere on the page. 
Liam shows the correct �ve numbers clearly. Although additional numbers are seen, they are not between 
the 20 and 30 and can be ignored. One mark can be awarded. Although Narinder shows the correct �ve 
numbers, she has also written other numbers between the 20 and 30 making her �nal answer incorrect,  
so no mark can be awarded.
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9.2 Examples of responses from question 28
Children must show a complete, correct method for the award of the method mark. The working may contain 
one or more arithmetic errors.

Peter: 2 marks Alia: 0 marks

Both Peter and Alia have used a number line to solve the problem. Peter has been awarded two marks 
because he has shown the correct �nal answer of 13 even though it is not within the answer box. Alia has 
recorded an incorrect method. She has used a number line, but after subtracting two tens she has only 
subtracted 6 instead of 7, so no mark can be awarded.

Esne: 1 mark Nicky: 0 marks

Esne and Nicky have used pictorial methods and both have shown the incorrect answer ‘12’. Esne has recorded 
a correct pictorial method, showing 40 tallies and crossing off 27, i.e. 40 − 17 – 10, but has made an error in 
counting the remaining tallies. Because her method is correct, Esne can be awarded one mark.  Nicky has also 
recorded a pictorial method. She has shown 40 tallies, but has crossed off 28 so her method is not correct and 
no mark can be awarded.
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Examples of responses from question 28 continued 
 

Shay: 1 mark Charlie: 0 marks

Shay and Charlie have both transposed digits in the �nal answer so two marks cannot be awarded. In 
Shay’s working, 17 can be considered a reversal of a digit because the 17 is clearly seen in the question. 
Consequently her method (40 − 17 − 10 =) is complete and correct and can be awarded one mark. In his 
answer box, Charlie may be trying to write 13, but transposed digits are not acceptable. Since he has not 
shown any working, no mark can be awarded.

Alex: 1 mark Erin: 0 marks

Alex and Erin have both crossed out some of their work. Alex has written the correct answer but has crossed 
it out and has not replaced it. However, he can be awarded one mark for a complete, correct method. In 
comparison, Erin had a complete method (albeit with an arithmetic error and no �nal answer) but she crossed 
out the second part (30 − 10) resulting in an incomplete method so no mark can be awarded.
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Examples of responses from question 28 continued 
 

Arnav: 1 mark Oliwa: 0 marks

Arnav and Oliwia both recorded a calculation but did not complete it. Even though the �rst part of 
Arnav’s method is not visible, we can assume that he has added 17 and 10 as he shows the total 27 being 
subtracted from 40 in the written part of his method. One mark can be awarded for a complete, correct 
method, despite the omission of a �nal answer.  Oliwia has not shown the addition of 17 and 10, so it is not 
clear where her ‘22’ has come from. We are not able to assume that she has a correct method so no mark 
can be awarded.

Harry: 1 mark Lucia: 0 marks

Harry and Lucia both added 10 and 17 and then attempted a subtraction. Harry has subtracted 27 from 40 
so one mark can be awarded for a complete, correct method. Lucia made an arithmetic error when adding 
10 and 17 to reach 26. This arithmetic error need not affect the method mark, but Lucia went on to subtract 
40 from 26 which is an incorrect method. Consequently no mark can be awarded. (If Lucia had reached the 
answer of 14, we would assume that she intended to subtract 26 from 40, and one mark would be awarded 
for a complete, correct method.)
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Examples of responses from question 28 continued

Anna: 1 mark Leroy: 0 marks

Anna and Leroy both recorded a calculation with no �nal answer. Anna shows a complete, correct method 
of 40 − 27 so one mark can be awarded. Leroy also recorded a complete, correct method of 40 − 17 − 10, 
but has crossed it out so no mark can be awarded.

Tom: 1 mark Fleur: 0 marks

Tom and Fleur have both misread numbers in the question. Tom has misread 17 as 19. As all the  
arithmetic is correct and the question has not been made easier, one mark can be awarded for the method.  
Fleur has misread 17 as 10 and subtracted 10 twice. As her misread makes the question easier, no mark 
can be awarded.
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